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Note:	 The question paper is divided into three sections A, B and C. 
Write answer as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A' "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. Answer of each question should be 
given in 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 30 eãXm§o ‘| 
Xr{OE& àË¶oH$ àíZ 02 A§H$m| H$m h¡&
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1)	 Give the answer of the following questions:
	 {ZåZ àíZm| Ho$ CÎma Xr{OE&

	 (i)	 If z xy=  then find x
z
2
2  and y

z
2
2 .	

		  ¶{X z xy=  h¡ Vmo x
z
2
2 VWm y

z
2
2  kmV H$s{OE&

	 (ii)	 If total output/production function is 

		  Q = AL0.7 C0.3

		  then find the share of labour in Total Production / Output.
		  ¶{X Hw$b CËnmXZ/CËn{Îm ’$bZ h¡…-

		  Q = AL0.7 C0.3

		  Vmo Hw$b CËnmXZ/CËn[Îm ‘| l‘ H$m {hñgm kmV H$s{OE&

	 (iii)	Explain profit maximization.
		  bm^ A{YH$V‘H$aU H$mo g‘PmBE&

	 (iv)	 What do you mean by order of a matrix.
		  ‘¡{Q´>³g Ho$ H«$‘ go Amn ³¶m g‘PVo h¡?

	 (v)	 Define Histogram.
		  Amd¥{Îm {dVaU {MÌ H$mo n[a^m{fV H$s{OE&

	 (vi)	 What do you mean by variance? 
		  àgaU go Amn ³¶m g‘PVo h¡?

	 (vii)	Explain Time Reversal Test in Index number.
		  gyMH$mH$m| ‘o§ g‘¶ CËH«$må¶Vm narjU H$mo g‘PmBE&

	 (viii)What do you convasser method of population census?
		  OZJUZm H$s {ZdoXH$ ar{V go Amn ³¶m g‘PVo h¡?
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKwÎmamË‘H$ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{O¶o& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 A Firm’s production function is 5Q L K. .37= . The Price of 
Labour is Rs.1 per unit and the price of capital is Rs.2 per unit. 
Find the minimum cost combination of labour and capital for 
an output rate Rs.20.

	 EH$ ’$‘© H$m CËnmXZ ’$bZ 5Q L K. .37=  h¡& l‘ H$s EH$ BH$mB© H$s 
H$s‘V Rs.1 Ed§ ny§Or H$s EH$ BH$mB© H$s H$s‘V Rs.2 h¡& Hw$b bmJV ñVa 
Rs.20 hmoZo H$s pñW{V ‘| l‘ Ed§ ny§Or H$m Ý¶yZV‘ bmJV g§¶moJ kmV 
H$s{OE&

3)	 Solve the following:
	 {ZåZ{b{IV H$mo hb H$s{OE&

	 (i)	
x x

x dx
2 1

3
2 - -

y

	 (ii)	 ?
1
1
0

1
2
1

0
3
2

-

-

=
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4)	 What do you mean by primary data? Explain the various 
methods of collecting primary data.

	 àmW{‘H$ g‘§H$m| go Amn ³¶m g‘PVo h¡? àmW{‘H$ g‘§H$ g§J«h H$aZo H$s 
{d{^Þ ar{V¶m| H$mo g‘PmBE&

5)	 What is meant by ‘Central tendency’? What are the essentials 
properties for an ideal average?

	 "Ho$ÝÐr¶ àd¥{Îm' go ³¶m A{^àm¶ h¡? EH$ A{Xe ‘mÜ¶ ‘| H$m¡Z-H$m¡Z gr 
{deofVmE± hmoZr Mm{hE&

6)	 If ¶{X : 
1
2
2

2
1
2

2
2
1

A= > H  and  VWm 
1
0
0

0
1
0

0
0
1

I= > H

	 Then prove that A 4A 5I 02 - - =

	 hmo Vmo {gÕ H$s{OE {H$ A 4A 5I 02 - - =

7)	 Explain (Any two):-
	 (i)	 Method of least square.
	 (ii)	 Standard Error of Estimate.
	 (iii)	Assumptions of Multiple Regression Model.
	 {H$Ýht Xmo H$mo g‘PmBE…-
	 (i)	 Ý¶yZV‘ dJ© ar{V&
	 (ii)	 AZw‘mZ H$s à‘mn Ìw{Q>&
	 (iii)	~hþJwUr àVrnJ‘Z H$s ‘mÝ¶VmE±&

8)	 What do you understand by sampling? Explain its various 
objectives.

	 à{VM¶Z go AmnH$m ³¶m A{^àm¶ h¡? BgHo$ {d{^Þ CÔoí¶m| H$mo g‘PmBE&
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9)	 Explain the difference between following. (Any two):
	 (i)	 De Facto system V/s De Jure system.
	 (ii)	 Whole sale price Index V/s Consumer price index.
	 (iii)	Correlation V/s Regression.
	 {ZåZ{b{IV ‘| AÝVa H$mo g‘PmBE& ({H$Ýht Xmo ‘|)…-
	 (i)	 gV{gÕ JUZm àUmbr V/s {d{Y {gÕ JUZm àUmbr&
	 (ii)	 WmoH$ {dH«o$Vm H$s‘V gyMH$m§H$ V/s Cn^moº$m ‘yë¶ gyMH$m§H$&
	 (iii)	gh-gå~ÝY V/s àVrn J‘Z&

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. Answer of each question 
should be given in 500 words. Each question carries 16 
marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{O¶o& àË¶oH$ àíZ H$m CÎma 500 eãXm| ‘| 
Xr{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡&

10)	 (i)	 Solve the following system of equation by cramer’s rule:
	 	 {ZåZ g‘rH$aUm| H$mo H«o$‘a Ho$ {Z¶‘ go hb H$s{OE…
		  x y z3 5 7 13+ - =

		  4 12x y z 06+ - =

		  x y z2 9 3 20+ - =
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	 (ii)	 To prove that:
		  {gÕ H$s{OE…

		  ( ) ( ) ( )a
a

b
b

c
c

a b b c c a
1 1 1

2
= - - -

2 2

11)	 From the following data, calculate standard deviation, its 
coefficient and coefficient of variation.

	 {ZåZ Am±H$‹S>m| go à‘mn {dMbZ, CgHo$ JwUm§H$ VWm {dMaU JwUm§H$ kmV 
H$s{OE&

Age (less than)
Am¶w (go H$‘)

10 20 30 40 50 60 70 80

No. of Persons
ì¶p³V¶m| H$s g§»¶m

15 30 53 75 100 110 115 125

12)	 (i)	� Explain ‘Index number’. Why Fisher’s formula is referred 
to as an ‘Ideal Index’?

		�  gyMH$m§H$ H$m AW© g‘PmBE& {’$ea H$m gyÌ AmXe© gyMH$m§H$ ³¶m| 
H$hbmVm h¡?
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	 (ii)	� Construct Fisher’s Ideal Index for 2015 with 2005 as base 
year.

		  df© 2015 Ho$ {bE df© 2005 H$mo AmYma ‘mZH$a ’$sea Ho$ AmXe© 
gyMH$m§H$ H$m {Z‘m©U H$s{OE&

Commodity 
nXmW©

2005 2015

Price
H$s‘V

Quantity
‘mÌm

Price
H$s‘V

Quantity
‘mÌm

A 20 08 40 06

B 50 10 60 05

C 40 15 50 15

D 20 20 20 25

13)	 Write short note on followings: (Any two)
	 (i)	 National sample survey organisation.
	 (ii)	 Indian population census.
	 (iii)	National Income statistics.

	 {ZåZ{b{IV na {Q>ßnUr {b{IE& (H$moB© Xmo)
	 (i)	 amï´>r¶ à{VXe© gd}jU g§JR>Z&
	 (ii)	 ^maVr¶ OZJUZm&
	 (iii)	amï´>r¶ Am¶ g‘§H$&


